1. The National Mission for Saffron has been

launched as a sub — scheme of which among
the following programmes?

(R) Rashtriya Krishi Vikas Yojana

(B) National Food Security Mission’

(C) National Horticulture Mission -

(D) National Cash Crop Programme

Who is called the Folk deity (Lok Devta) with
four hands?

(A) Mallinath ji (B) Kalla ji

(©) Jhunjhar ji (D) Fatta ji

‘Palk strait’ is located between -

(A) India and Sri Lanka

(B) India and Maldives

(©) India and Indonesia

(D) India and Myanmar

Read the w:_.nm_dm:m carefully —

(1) Tikaram Paliwal is the only Chief Minister

who has also been a Deputy Chief Minister
in Rajasthan.

(1) Hari Shankar Bhabhra has been the Deputy
Chief Minister of Rajasthan for the longest
time till now.

Which of the following option is correct?

(A) Only statement Il is correct

(B) Both statements | and Il are incorrect

(C) Only statement | is correct

(D) Both statements | and |l are correct

5. In which district of Rajasthan, in the latest

survey of Geological Survey of India 2021, huge
deposits of cement grade limestone have been

found?
(A) Chittorgarh (B) pali
(C) Jhalawar (D) Jaisalmer
6. Maize is produced largely in which part of
Rajasthan? :
(A) Eastern . (B) South and South
East
(C) Central (D) Northern
7.~ Which one of the following is not correctly
matched?
(A) vansh Bhaskar - Suryamall Mishan
(B) prithviraj Vijay - Chand Bardai
(C) Kuvalaymala - Uddhyotana Suri
(D) Hammir Mahakavya - Nayanchandra Surj
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10.  When

v

In. 1818 .)_w“..umwwv.mdamq
officer who matdge ﬁm%w with the Rajput state
was - : :

(A) Charles Metcalfe  (B) James Ferguson .
(C) Charles Hector ~ (B) Mock Mason

Who was the first Protem Speaker of Rajasthan
Legislative Assembly?

(A) Yashwant Singh Nahar ’
(B) Maharao Sangram Singh m
(C) Poonam Chand Vishnoi

(D) 535: Singh Masuda

: was n:m, -Planning
established in Rajasthan?

(A) 1956 (B) 1954
() 1955 (D) 1953 :

Department

1. Border SecUrity Force has launched which

operation at Rajasthan border in January,

2022?

(A) Operation Kranti  (B) Operation Sard
Hawa

(C) Operation Shakti (D) Operation Pawan .

12. Which of the following Railway station has

1

-
B

been awarded Platinum Green Railway mﬁﬁoa,..
rating recently? ‘ .
(A) Mumbai (B) Jodhpur . .

(C) Ajmer (D) I<nm_.mcma :

Which system is currently being adopted in the.
field of Economic Planning in Rajasthan?

3

(A).Public mno:o:._.n.mﬁﬁmq.:

(B) Federal Economic System

(©) District Level Economic System
(D) nm:»_.m_._m.mm Economic System v
Which of the following (Political >Q-<..ﬁ..%
Related Princely State) is not corr
matched? : W
(A) Krishna Dutt Paliwal - Dholpur.
(B) Harimohan Mathur - Karauli
(C) Gopilal Yadav - Bharatpur

(D) Mathura Das Mathur - Marwar

131A >

9,

10.

Q

11.

12.

_(A) e HERTE

f of the company, the 8  1818%. o e )|l () e G

iy e arelr T = —~ :
. (B) SRy BT
(C) =T gaew (D) wife e

o R W e A Y DI

¥ F

(A) Terge e A

—B) W wuam e

(©) gw e fawr

(D) =T e wger

o # FRloE fawer @ e ed
g7

(A) 1956 (B) 1954

(&) 1955 (D) 1953

<A R et SIS 2022 H VAT P
BT O i AT AT = AT

(A) sifoer wif OB o Ed E
(©) sifmer wfs @) e A

fore 3 9 fopw Yol R BT
8 . 4




15

16.

17

19.

20.

21.

131A

P

Which of the following is related to green 15 Fmifaid A iy SERT T "
revolution in India? ﬁm@,ﬂw.
(A) Environment Protection (R) taferoT HRET
(B) Calculation of Green GNP (®) eRq AR F T
(€) Green House Effect (C). &Rq & T 24
(D) High Yielding Variety of Seeds __(D)=Ta Il el @ it .
Which among- the following (Topography - 16 f=ifd § & @Il Aﬁ%| A
Location) is not correctly matched? Kl %m@m | |
(A) Bhorat Plateau — Between Kumbhalgarh to (A) ¥R USR — HATATG T & e
Gogunda T IOTH< F
(B) Lasadia Plateau — Rajsamand \\GY ot . 1
(C) Bhakar - Eastern Sirohi fir H& T m -
(D) Oriya Plateau — Mt. Abu (D) SR TR — 1. 3
During the tenure of which Governor General ~ 17. ¥Rg @ fg TR B FRHS IR,
of India, the Hindu Widow Remarriage Act was i sifefe wiRd_fdar T
passed? T« -
(A) Lord Mayo ~(B) Lord Canning " (A) ATE Har 1eel (B) &fE Bf )
(C) Lord Ellenborough (D) Lord Amherst ﬁms\\c.\v\ﬂ.._@ INCECR] (D) &fE THEwe o 2
The ‘NIPUN Bharat Mission’ is being 18 'fgor wRe fm swffag fear w1 <ar .
implemented by - g -
(A) Ministry of Science & Technology (A) o= v dienfie w=mem gRy
(B) Ministry of Micro, Small and Medium (B) J&9, &g Ud W wEm ﬁ:mM R
Enterprises VQ (©) Rren wrer g '
(C) Ministry of Education ;
(D) Ministry of Labour & Employment @&3 T I Frerd g
‘Falku Bai' is related to which folk dance? 9. Go A FT R 6 o T & &2 B
(A) Chari Dance (B) Kalbelia Dance E I (B) Preraferar e
(C) Terahtali Dance (D) Bhawai Dance (©) Reah T (D) e e,
According to Census 2011, the sex ratio in - 20. TvFAT 2011 & IIAR, IO H
Rajasthan is - fefmraTa — i
(A) 6 points higher than the national average. ) 3T
(B) 15 points lower than the national average. 4% o\vﬁﬂ‘@uﬁ%ﬁ i M\M\mﬂwﬂaamwmww_ v g
(©) 6 points lower than the national average. ‘W.Vhe ST ST W 6 favg @ 2|
(D) 11 points lower than the national average. Aa\w NAE. IS SN W 11 Eﬂ\mwm 2]
/here was the first cement factory establish 21. T - if
x&.mmﬂ:m:w . ¥ - MMM&M i %\'m\ﬁ— il E:ﬁm.
A) Lakheri (B) Beawar By (B) =rey 2
©) Dabok (D) Gotan ©=@F . (D) ey
+ vdrava isfamous for - 2. Hear airg # —
\H: Jains® (B) Jats_ At & g (B) WIref & farg
(€) Sikhs (D) Gurjars (©) Ryt @ forg (D) TToRY & forg
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Through which newspaper did Vijay Singh
Pathik propagate the Bijolia farmer movement
all over India?
3 Yugantar (B) Naveen Rajasthan

(C) Tarun Rajasthan (D) Pratap

E%mn Singh Barhath was imprisoned in which 25.

of the following no:mt:me\.nummw

(A) Alipore conspiracy case

(B) Udaipur conspiracy case
(C) Lahore conspiracy case
(D) Banaras conspiracy case

In mmbmm:ma the quorum to Samzncﬁm a
meeting for the consideration of a no

confidence motion against the n:m:_.:m/?_ o & o @k (I _q, =
Municipal Board shall be.................of the tota ms.%| s Hm .
number of persons entitle to vote thereat. mﬁﬁ% ..%o N

(A) One tenth (1/10)  (B) One third (1/3) (A) et AT (1/20) A 0

(C) Three fourth (3/4) (D) Two third (2/3) (C) = dters Aw\% (D) 21 f

What is the maximum amount’ that: the 27. R
Rajasthan StateInformation Commission can e fae
impose fine for not giving information? m,,., Al &7

(A) 20,000 (B) 25,000 (A) 20,000

(© 30,000 (D) 15,000 - ©3000
Which one of the ﬁo__n,.i:m musical instrument § nu Wﬂ@@ﬂ # b
is different from the other three? Ay L

(A) Khadtal (B) Mashak . (A) et
(C) Algoza (D) Shehnai - ; (C) 3yeTieT
108! Indian Science Congress scheduled to be 29 FEa 2023 °

held in January 2023 at -

(A) Bangalore (B) Agartala

(C) Udaipur (D) Nagpur




30. Read the following statements carefully —
(i) In the late 19" century, the Desh Hiteshini
Sabha was established in Mewar.
(ii) Social reform was the core objective of the
Sabha.
Choose the correct code -
(A) Only statement (ii) is true

%@mﬂiﬂﬁﬁm&%
(i) 198 w4 B ST A ﬁaww@

oza\lmw 1 T 1887 189F
(i) o 1 7 SR S YR
@ FT 9T -

(A) Fae B (i) §F &
(B) daet P (i) 6 &

(B) Only statement (i) is true ;
(C) Both the statements are true Wu !\E\ﬁ.ﬂw il ﬂﬂw
/(D) Neither (i) nor (ii) is true w0 (D) = at ()71 & (ii) T ¥ .
31. According to the Census 2011, which district oqm.uéu 31. 2011 @ FHIVAT T UK, TSI @ fo|
Rajasthan had the lowest rural sex ratio? “ ECk g I . a?
(A) Dholpur (B) Tonk o AR (8) il
(C) Jaisalmer (D) Pali T (C) | (D) aredl~
32. |ndia has been divided into 15 Agro-climatic oo 32- WRd @I Hmmﬂ_w Serarg g F fva fear
zones by- = TR -
(A) The Agricultural Ministry o (A) FfY F=1e8 gRI RS
(B) The Meteorological Department (B) #Hiw favmT g ; m
(C) The Water-Resource Ministry - (O SFewarE W ERT.
(D) The Planning Commission ! QNH.V {P) AISHT AT ERT
33. ‘Isarda Dam Project’ is constructed in-which e afe g b el § Al o
districts? o TR v
(A) Jhalawar and Baran(B) Tonk and Sawai M (A) sTTeTTaTS iR 9Ri (B) : IR s
Madhopur Te) TR
(C) Dungarpurand ' (D) Kota and Baran M.q/_v
™ @%%ﬂﬁﬂ@ﬂﬂ%g

Banswara

34. Who is winner of women’s singles in Tmzn:?u 34.
Open - 2022?

(A) Iga Swiatek

1

(B) Kristina

Mladenovic
LQ C. Gauff (D) Caroline Garcia \w
35 Who was the first Chairperson of the mEHmMN_u 35.
inance Commission in xm_mﬂ:m:w

aﬂﬂ_%ﬂxgwwm%ﬁﬁﬂ%m@ﬁ%
mw

(A) 3 Raams (B) fohvieT weAre A
(©) . i D) axifert mitfar
RO W9 [ AR B Her e i
o7

(W) . ¥ RO _(BY S o e
(C) €RreTel SagRT (D) v B, why

Rem da & w9 4 ufig @ dwEr B

- TH El gam?

W) TG _iByRc vifa 24
(C) &=AmET Tt (D) AR fq

(A) M. C. Surana " (B) K. K. Goyal “QM
(C) I.m.m_.m_m_ Devpura (D) S. K. Ghosh
36. __.:m_,,m\.,.imu Swami Keshavananda, aifamous 236}
€ ",_:ommb: saint born? )
" (A) Rampura Berry  (B) Mangloona Village
(©) Harnawa Village (D) Banasur Village
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37. Which one of the following (Shifting Cultivation
- Area) is not correctly matched?

. R T — &)
7. fyefafad 4 3 9 (R M\H\E\\l
gAfera G@EE?

(A) Kumari - Madhya Pradesh o0 mulﬂﬁ@ — we We
(B) Podu - Andhra Pradesh and Odisha M drg, — ST ¥ad 3 anfeen
(C) Jhum - Assam % (©) gt —
(D) Ponam - Kerala u (D) qr — nw_ﬁ
38.  The mosque of Malik Shah is situated in - v88. %\E@ el Rord 27
(A) Jhalawar (B) Baran M () TS (B) aRi~ |
(C) Jalore (D) Rajsamand m .Ke\m:mﬁ (D) IoTaHS )
39. n how many days an appeal can be made to  €G8f:  RTuTReMT ST TRA afafraE, 2011 %“
the second appellate authority against the w sfeeter erd andreiy wifereTd @ _ﬁdﬂ A,Jb Ew\ﬁ
decision of the first appellate authority under 5 frer i W%tﬁlmﬂw%ﬁ. T @1 e
the Rajasthan Public Service Guarantee Act, mM & o w2
120117
(A) 30 Days (B) 15 Days \.& 30 f A”w ww WM
(C) 45 Days (D) 60 Days —" () 4sfeT . (D) sof2 -
40. Which one of the following (Ornament - 40 frefaRaa & | D@l (<) T~ T )
Human body part) is not matched correctly? QMU gHferd GER? Y
(A) Timaniya - Neck  (B) Ramjhol - Wrist 3 (A) faforr — T A8 .. .
(C) suraliya - Ear (D) Tagadi - Waist for) _
41. Which (Mineral - Mining Area) is not a correct Q
match? . m
(A) Rock Phosphate — Jhamar-Kotra -
(B) Iron Ore —Morija-Dabla
(C) Manganese — Kala-Khunta m
~ (D) Garnet — Kalaguman wu
42. sridhar Andhare should be given credit for 2.
bringing to light the painting style - MH
® Devgarh (B) Kishangarh .ﬁ _ A 3as
(C) Shahpura (D) Uniara
43. To which order of Sufism, the symbol of 4.
communal harmony Qazi Hamiduddin Nagori,
"belonged? ! .
(A) Suharawardi (B) Kadiri .
(C) Magribi (D) Chisti (D-F3 .
44, |ndia’s first olive refinery, was set up in % SIS TR
Rajasthan at -
(A)“Amarsagar (B) Suratgarh
(C) pachpadra (D) Lunkaransar
_ Page 7 of 24
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The cloth worn on the waist by:the men of Bhil

tribe is called -

(A) Kachabu (B) Khoyatu

(€) Polya (D) Jama

Where is the- ‘Bhartiya Lok Kala Mandal

Institute’ located?

(A) Udaipur (B) Tonk

(©) Jodhpur (D) Jaipur

Who defeated the combined army of British”

and Jodhpur state in the Revolt of 18577

(A) Rawat Ram Singh  (B) Thakur Kushal
Singh

(C) Jaydayal (D) Mehrab Khan

In which year, Rajasthan State Environment

Policy was declared?

(A) 2013 (B) 2018

(C) 2010 (D) 2008

Gandhi Ashram in~ Hatundi (Ajmer) was

established by -

(A) Haribhau
Upadhyaya

(©) Arjunlal Sethi (D) Jamnalal Bajaj

To whom did Kesari Singh Barhath addressed

‘Chetavani Ra nrcrmm:«.m:..u

(B) Manikya Lal Verma

(A) Mirza Raja Jaisingh

(B) Maharana Pratap Singh :
(€) Maharana 2..; Singh

(D) Maharana Fateh Singh

Who'is a chairman of 15 Finance Commission
of India?

(A) Nirmala Sitaraman (B) Dr. Ashok Lahiri

(C) Ajay Narayan (D) N. K. Singh

Who was the political agent of Jaipur duringthe 52

Revolt of 18577

(A) william Eden (B) .Z&.oq Burton

(€) Mock Mason (D) Major Morrison
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48. ﬂ%mgmﬁ\m;@gﬂ%&u
B TG
(A) 2013 (B) 2018
(D) 2008

A9 2010
. gl (gwR) § IRD s @y
g % gRT & TS|
__) & S (8) e e amf
(©) ST ey (D) STHATSATST qoAT
%0 Fw8 g aves 3 e < gufear £
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(A) ST 31T SFaRig
(B) WeRTom yam Riz
(©) 7R sl Rz
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54.  What is the ‘Badhar’?

53. el @ ISUdTd  gad et arel
#
(A) oo @ ggE e & @ sl
frgafarererl @ | <
(B) e 3150 Td 3%\@«&@% & A
& oA B T # wERd S

3. The Governor of Rajasthan is the ex-officio
Chancellor of -
(A) All the State as well as Private Universities
of Rajasthan. ’
(B) All the State and Private Universities as well
as ‘Central Universities working in the

territory of Rajasthan. freafaemer @ | ~
. (C) All the State Universities of Rajasthan. Eﬂ & @EP YL Rreafeemedl @ |
(D) All the State Universities as well as all the (D) et T faafaeer & AT & TR

Central Universities working in the territory
of Rajasthan.

\Nw AT § BRRG G fzafaernerl & |

\E@dﬁﬂ%xﬂ Sy
(B) si@ifte @Y uH fabam L]
(C) TR @1 T S
(D) <ToReIT &1 TP FiTel

55. ﬂ%ﬁﬂﬁ%@d@ﬁ%
@ dgd) @ A aawRr @ fere &= wd@
@ﬁwﬁqgag%

(A) Wedding banguet
(B) An act of funeral
(C) A tribe of Rajasthan
(D) A lake of Rajasthan
55. How much share of the center and the state

has been kept for the financial arrangement of
the Drought Prone Area Programme (DPAP)

operated in Rajasthan? .
(A) 90:10 (B) 50:50 (A) 90:10 (B) 50:50
(C) 75:25 (D) 60:40 _1©) 75:25 . (D) 60:40
56. ‘pARAKH’, recently seen in news is related to 56. grer @ A @Waw ¥ vEl Wy e H
which of the following? . frady dferT 2?
(A) Education (B) Industry & e (B) QeI
(C) Health (D) Banking (C) T (D) dfepT

57. fye § ¥ ORI & 59 gErEEl & i@

w_.ﬁ%g Aﬂqﬂf\\wﬁﬂ SHio \Hﬁ e

(acz

57.  president’s rule was imposed for the maximum
number of times during the tenure of which of
the following Chief Minister of Rajasthan?

(A) Bhairon Singh Shekhawat AN i Rig drard - 37 Homi
(B) Shiv Charan Mathur . (B) fRre=ror AR e MM
(C) Haridev Joshi 4 ; (C) &¥reg e
(D)-Mohan Lal Sukhadia e (D) Hrg o gAYy
.58.  The Dry Land farming is done in India in - mu.%& qh & By ol B

(A) 150 Q.. & aifis auf &3+
; 35 QA F 75 A S vl o= H
T(C) 100 ¥, W 150 /A aMfdE 0 = A
(D) 75 A ¥ 110 A, Afip @ i H

59. ﬁﬂﬂﬂﬂm@ﬂ@mﬂﬂﬂw? 3

(A) More than 150 cm annual rainfall areas'
(B) 35 c¢m to 75 cm annual rainfall areas
(C) 100 cm to 150 cm annual rainfall areas
(D) 75 cm to 110 cm annual rainfall areas
59. Highest Ragi producing state of India is -

(A) Maharashtra (B) Karnataka (8) WERTS (B) &1
(C) Tamil Nadu (D) Uttarakhand 5 (C) wfierTTg JISS SRS ‘
1314 > Page 9 of 24 w ,
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62.

63.

64.

65.

66.
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Recently (on 9t April, 2022), who among the

following folk music artist of Rajasthan was

awarded ‘Sangeet Natak >_Bmm5< Award’?

(A) Kheta Khan (B) Gazi Khan Barna

(C) Mame Khan (D) Dapu Khan

The motive of e-SHRAM uo:m_. is -

(A) to educate workers

(B) to do online payment of workers

(©) to create a National
c:oqmm:_..mma workers

(D) to create a National Database of organised
workers

Database of

How many districts were.included in ‘Intensive

Agriculture District Programme’ in 1960-61?

(A) 10 Districts ~ (B) 8 Districts

(C) 9 Districts (D) 7 Districts

Which among the following is the quantitative

method of credit control by the Central Bank?

(A) Credit rationing ~ (B) Marginal
requirements

(D) Bank rate

In which year the concept of Multidimensional

Poverty Index was introduced?

(A) 2010~ (B) 2008

(C) 2011 (D) 2000

‘Mahansar’ is famous for -.

(R) Abundance of Mughal paintings

(B) The Haveli of 360 windows '

(C) sati Mata Temple WM

(D) Golden work in painting

(©) Direct action

The Chairman of “State Human Rights

Commission is mbno_zﬁma by the Governor on

the recommendation of a committee, who

among the following is not part of that?

(A) Opposition Leader of Legislative Assembly

(B) Speaker of Legislative Assembly

(C) Chief Justice of High Court

(D) chief Minister ;

Vho wrote the book ‘Planned Economy for

India’? Sl

(A) M. Visvesvaraya  (B) Mahatma Gandhi

(C) Man Mohan Singh (D) Pt. Jawahar Lal
Nehru

6. T & ¥ (o i, 2022 B) WRAE F
frefefed # @ b A Giid_BeTdR B
%&Pa%gﬁiggv
@Wwd a0 (Bl @ A
(C) 71 @™ (D) T1q @

61. (Zsmurdal & e & —

(A) SERT B RIferd HA1
(B) SIAIRT &1 SHTTATS YA BT

T
@ﬂwmﬂ%ﬂﬁ@ﬁ&aw%ﬁﬁg

62. ¥ 1960-61 H A P Rom FRIEAT B
 sifa e Rt 31 Tt far T
AA) &9 Ryt (B) a5 firet
(©) = frer (D) w1 fore

6. I §o g e § W B gRa_fRim
&I IRATHS_fafey &7

(C) wemer wRiaTEL. |

64. ﬁi%%ﬂ@%ﬁﬁﬂmﬂ_&
TH'F T A7

(A) 2010
A& 2011
65. ﬂﬂ.ﬂﬁaﬂ?ﬂ”l
(R) FreTdre o 3 afiraer @ firg
(B)- 360 Rasferal 31 gdeh & forw
(©y et A AR B forg
(D} @ REer) & fare
86.” I ATRBR ST B gemw A Pl
oAU BN U6 AfEfy @ ReiRy ge 9
| SRR 8, o B e @ e 27
Aewmﬂﬂﬁﬁ@\amﬁ»ﬂ
(B) e aremer
19551 e a1 g =
(D) Fe=zr}

mq.ﬂa%ﬁzw@éwﬁﬂwﬂw

Eﬂ%ﬂ

(B) 2008
~ (D) 2000

(B) wgTemT ey
(D) 4. WarER AT s

>
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6. "Mahamandir of Jodhpur’is a place of worship 68
oﬂ. ™ I - .
(A) Dadu sect
(C) Nath sect

(B) Ramisnehi sect
(D) Bishnoi sect
69. The one rupee note bears the signature of  69.
the -
(A) Governor, RBI (B) Finance Minister
(C) Secretary, Ministry (D) Prime Minister
of Finance
70 n which of the following districts of Rajasthan ~ 70-
the ‘Inceptisols soil’ is found?

__ACyTep HTET &l

SER ®1 ARl IUTHA I & -
(A) a1g wverd @1 (B) j
(D) faw=irg wme™ @

w 0@ A W @) e Ed
A

(A) TaR, o, @ o (B) BT W=

() wfzra, fasr #=mera (D) nmwﬂ.\i%

e @ R 4 W fom_foreit @
TRy T WA S 87

A>:m_nc:_ugmmm:u>_<<2
(B) Pali, Bhilwara'and Sirohi Q
(C) Kota, Bundiand Baran
(D) Jaisalmer, Barmer and Bikaner

1. Which state of India has ﬁrm highest p nmssmm .
of forest area in the total area?
(A) Tripura (B) Mizoram
(C) Nagatand (D) Arunachal Pradesh

72. ‘Shivasamudram’ waterfall is located on which 72

river?
(A) Periyar (B) Godawari
(C) Kaveri (D) sharavati

73. "Which of the following (Irrigation Project - 73
District) is not matched correctly? 4
(A) Parvan lift = Jaipur
(B) Som-Kamla-Amba —Dungarpur
(C) savan:Bhado —'Kota
(D) Som Kagdar — Udaipur
74. The ‘Shukra Pond’ got constructed by >wcm.. is

(A) SR, ardl E.._J ,ﬁﬂﬁu

Aofaﬂ ﬂm@ﬂaﬁce&r
(D) SrEel, ATSER 3R dIehT] A
ﬂmamﬂ.«aﬂnﬂ%mﬁﬁ

fobe forey H

situated in-which fort? > = ! . R
(A) Nagaur (B) Shergarh : i T ,wv IRTE
(C) Gagron AE Sivana i ! Ryar
75. At which place in Rajasthan the Chandrabhaga .u.r.,.mﬂmmm HEM.
Cattle Fair is organized in the month of _Am_.arw
(A) Keshoraipatan + (B) Sitabari ” el
(C) Jhalawar (D) Jhalrapatan 3 q o
76.  \Which amang the following Thikanas _Bvommn 76 s dael @Y
‘Chanwari tax'? )
(A) Didwana (B) Kuchaman MNV Lﬂﬂ
(C) Bhainsrorgarh (D) Bijolia (D) fawhfern
131A &> Page 11 of 24




T1. 327 Bihar Puraskar was awarded to Dr.

Madhav Hada by K. K. Birla Foundation for
which of his literary work?

(A) vmn:a:mnmw_o_m Pahar Sakhi ri
(B) Aankh Heehyai Ra Hariyal Sapana
(C) Taslima “@mrma: Aur Sahitya

(D) Hum Yah&WThe Wm

78. Which of theollowing statement is true?

(i) Jagdeep o@_ﬂ:m.. sworn in as the 14t Vice-
Presidentsef India on 6% August, 2022
(According to person).

(ii) Jagdeep Dhankhar belongs to Jhunjhunu
district apg) is the second person from
Rajasthan become the Vice-President.

(iii) He has n also a Lok Sabha M. P., a

membeiObf the Rajasthan Legislative
>mmm3cﬁm:u. the Governor of West
Bengal. «— A

(iv) At Emmm..m:m Speaker of both the House
of the Parliament is from Rajasthan.

(A) i, ii

9. The author o@omﬁj\ collection, ‘Mugtee’ is -
(A) vijay <m_,% (B) Asha Parashar
(©) Emmﬁsmmmhﬁaoz (D) Kirti Sharma
80. if the szﬁm._ that determines the Indian
Standard Tirve"— (IST) is given the status of
Prime Meridian then what will be longitude of
the _:ﬁm-:mg@w_ Date line?
“(A) 97°30" s@ (B) 180° East
(C) 97°30' muw/_u (D) 82°30' East
1. According to¥2011 Census, the percentage of
scheduled c...m population to total population

in Rajasthan §— .
(A) 133 (B) 13.5 S
(C) 169 (D) 14.8

2. Where did the subsidiary of Adani Hybrid
Energy setup India’s first wind-solar hybrid

7 3 3 faear prEe GRIGZIIEN TR,
& g gel @ e R T, S
i & fore? o
( T Tl TR

%ﬁﬁ%ﬂﬁﬂ
(C) actar : e 3R wifecd
(D) g9 TET &

78. Pyeifed § @ 3 A GYLID B
E.F%_ﬁwpmﬂmﬁﬁqﬁﬂm»gmw,

4 Eﬁaﬂ%%ﬂm@%A%$
::%vﬁﬁ«ﬁﬁm@@m@wmg

gl
(ili) TE SAHE_AE, ISR [T &
@qq@.%@.aﬁﬂﬁ@m_.
(iv) A H WS aﬂ%ﬁ&%@
ORI ¥ E
(B) ii, iii

) \_w _.m k+..
79. mrdy e BRI 9 @ vEd § -

(A) faorg gaf (B) 31131 YRTIR
\E&%ﬂwﬂ% Evmyﬂi
80. %:@anﬁﬁﬂrw@,ﬂ%ﬁ»
qrell §¥ ﬂ]«gﬁaﬂ%ggmﬂ*
feam smo, &Y s R Y @1 dwmR _
T B1T? T8 BT .Nﬁ?
0 - 8
(A) 97°30' ufeemy  (B) S%ﬁhl&t 1se

_NG97°30 (D) 82°30' g
¢z
81 2015 ST B TR, ORI B g
SR # S B SRR T
50 aftrerr @ - .Mwﬂ_%
A 133 (B) 13.5
(©) 16.9 D) 148

82. ggrl wEfas ol 1 emw Fwh 3 fr
I IR HRT BT U8l Ya-WiR grefis qraw

power plant? e o faar?

(A) Raipur (B) pelhi (A) 3rrge (B) faeel)

(C) Hyderabad (D) Jaisalmer (C) ExraTe b SR &
131A &> Page 12 of 24 i )

in which districts of Rajasthan, population

density is found to be less than 100 persons per

square kilometre (According to Census - 2011)?

(A) Jaisalmer, Pali and Jodhpur

(B) Jaisalmer, Barmer and Jodhpur

(C) Jaisalmer, Barmer and Bikaner ¢

(D) Jaisalmer, Pali and Barmer M

Which ruler of Mewar patronized 5%&22

Sahibdin? o

(A) MaharanaRaj  (B) Maharana Nm:_gm
Singh B

(C) Maharana Amar (D) Maharana Jagat
Singh Singh |

In which district Shergarh Wildlife Sangtyary is

situated? M
(A) Karauli (B) Baran %
(C) sawai Madhopur (D) Bundi |

The “BHOR’ program which is being fun with
the co-ordination of
Commissionerate, Jaipur, is aimed at 5 (8
(A) Eradication of child labour
(B) De-addiction

(C) Rehabilitation of criminals
(D) Rehabilitation of beggars
What is the place of Rajasthan<in the
production of groundnut in India?
(A) Fourth (B) Second <

(C) Third (D) First

‘Bithadi Wind Energy Project’ is established in
which district of Rajasthan? m.v
(A) Bikaner (B) Chittorgarhg-

i ]
(C) Jodhpur (D) Hm_mm._am_. &)
89.  Khus grass is :._mms_ioc__a in mm_mm:&ﬂ.l_.-
(A) Abu Mountain region -
. doti) &2
(B) South-Eastern Rajasthan (Hadoti) &=

(C) Bharatpur and Tonk Forest division
(D) Western Rajasthan

a

295448

31

83. grorer H B 4

the cPolice AT SR & W
polk

Rrett H SreE g 100
o o @ Rreiey ACEEIE ST &
(T — 20117 HAR)?
(A) SrerR, arefl 3iY TR
(B) SrenT, argie 3k TR

e . . .
84, qfRgd TG REBR B HA8 B o AAD

T HRETOT UTd oAT7

(A) mERT o (B) FERIT BET

\Eﬂ%:eﬂaw AE%%_

mm.%dmﬁ%d%@ﬁgnmﬁ

& |

(OEXE \A.Em..a

© vk R O
. R (@qEsiaR) e T wr
86. HR (digd ) R 3 = o

TSRS

59 FT AT

3) TR \ ;

(©) srRifet ®1 garEr
S.\LM*q@%mwaﬂﬂﬂmﬁgﬁm_% e A T

e 87

(A) =gt
(C)
88 .&gﬂ%ﬂaﬂ@%a@aﬂ_
o # <enfia &1 T8 @
(A) dremrR AL
(C) TR Eﬂmﬂu,
89. ﬁmmﬂmﬂm@ﬁaﬁiaiﬁ 5 T

ﬁmﬁ% &Hmﬁ @.ﬁﬂm
\Mw.qmﬂﬂ%ﬁﬂmw

%0. RreeTe fem Rl ™ T e ¥
(A) 1956
(C) 1974

90. | which year was first commemorative stamp
on ‘Vijay Stambh’ of Chittorgarh released?
(A) 1956 " (B) 1986
(€) 1974 (D) 1949

131A B>
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91 1o which sect Govind Dev Temple, Jaipur and

Madan Mohan Temple, Karauli are related?

(A) Gaudiya (B) Ramsnehi
(C) Nath (D) vallabh

92, Match these —

. Z_E Ajrakh Print (I) Kaithun
(2) Power loom fabric printing (Il) Jodhpur -
(3) Mothda > () Balotara
(4) Masuria (IV) Barmer

Choose the correct option —
A (1)-), 2)- (), 3) - (1), (4) = (1v)
®) (1) =), (2~ (m), (3) = (), ()~ )
©) (1)-(v), (2) - (), (3)=(n, (4)- (1)
O -, 2-v), 3) -, @-m
83. Which scheme has been implemented on the
lines of MGNREGA to provide financial support
to the families residing in the'limits of urban
bodies of Rajasthan?
(A) Indira ~ Gandhi  Urban
Guarantee Scheme
(B) Mukhyamantri Shahari Rojgar Yojana
(€) Deen Dayal Upadhyay Urban Employment
Guarantee Scheme .\.A
(D) Rajeev  Gandhi Urban  Employment
Guarantee Scheme
94. I which of the following ,m_d:vm of districts in
Rajasthan is alluvial soil mainly found?
(A) Bikaner - Jaisalmer (B) Banswara -
Dungarpur
(D) Kota - Bundi

Employment

(C) Bharatpur -
Dholpur
95 Which of the following Hills is not a part of the
‘Satpura Range’?

(A) Maikal (B) Mahadev
(C) Rajpipla (D) Bharner
9. Match the following — m
Kuldevi Caste wl.“r
(1) Karni mata (i) Nai/Nayee
(2) Sakrai mata (i) Seervi
(3) Aai mata (iii) Khandelwal
(4) Narayani mata (iv) Charan

(A) 1-ii, 2-i, 3-iv,4-iii
(©) 1-iv, 2-iii, 3-i, 4-ii

iA R

(B) 1-iv, 2-iii, 3-ii, 4-i
(D) 1-iv, 2+, 3-4i, 4-ij

.4 - . BRCLLE!
: . . o Ay fee  @osl
97. How many volumes are there in ‘Batan Ri 97 ‘@i ¥ el

Phulwari’? &7 (8) 10
(A) 16 (8) 10 (A) 16 b
i = 8 Mn \_q A P gfw i Ae g @
5 2 . . d 98. T H X i e e
98. Which of the following is not a propose I - "
beneficiary district of Indira Gandhi Nahar %q SRl J,d@ 2 ﬂ:P
Project (IGNP)? (A) STEgY B 5 @
B) si " PRIl
~ (A) Jodhpur (B) Sikar \ko.ﬂm: (D) =it \.C.."‘ ‘
(C) Pali (D) Nagaur i N <y e W @ AEn B
(A) (1)~ (1), (2)= (), (3) = (1), (4) = (Iv) 99. Who is the Secretary-General of United 99 MMEE K ' —_—
(B) (1) - (1), (2) - (1), (3) = (IV), (4) = (1) Nations at present? Ay B (B) T ST |
.\BYE = (v, ()=, 3) =), (4l=(1) (A) Ban Ki-moon (B) Kofi Annan AP Tovw (D) % €1 dUew
(D) (1)- (M), (2) = (Iv), (3) = (1), E.l::. (C) Antonio Guterres - (D) Perez de ncm_A_mq , Sol\“.\v‘\ﬁﬂ“ﬂ . WEJ_ ot G — SR e
93. F B T W WO G TEd M 2 Pt 100. Which is the largest agro - climatic region of . Wj«: 5
W ¥ Ye g IRanT @ i SRR Rajasthan? 3 (A) iR e T Y arl ~ -
fore el AT @ @) 08 87 (A) Internal drainage dry 2one, g ofe T wn._n
= - ; -2 X ;
p = ) R % .~ (B) Arid western plains ) A 39 &g @Rl feE
E e \ . (C) Sub humid southern plains Pt ; R I anifres fofem &=
(B) gegwaT wredt ISR Sﬁﬂ: (D) Hyper arid partial irrigated zone % =B B Y
©) &9 Tae SR IR IR 101 NTFS stands for ............ and it was . N
4 i \\\‘\ 4 i CETTETRTS ~ N O T 1
T developed by ... J i
(D) Tofrg et oredt O MR Aoty — A Network Technology File System; Intel
% ; (B) New Technology File System; Apple

.. freoter % 9 S % o forel @

nﬁﬁﬂﬂﬁﬁ_ﬂmi% ;
\&eﬂﬂﬂ%éﬂﬁﬂl
NG AR — sergy (D) rer —

onﬂb‘mgo} Technology File System; Apple
- (D) New Technology File System; Microsoft
102. |n context of MS-Word — 2019, the key stroke

to go to the location of the last change -
: (B) Ctrl + shift+F8 -~

102. THUH —9S -2019 & ﬁ&ﬂ_ A Tivaes
A) firge +F=o ABTT T

98- Freafoimen eIl 4 9 iy (A) shift+ 5 g Bt ¥ -
) ﬁ@u (C) Alt +F6 (D) Ctrl . - .aﬂﬂﬂ,n—l Ser 3 oy B
o Aa.ﬂaﬁ ord dumqmmﬂ 103. Which of the following is correct formula in w‘_v. ==
4 v ) < poweR(2ds) ) - OWERE e i
Ferad) o (@ -pOWER(2'3) (D) =POWER(23) S
5 ﬁéﬁgﬁﬂﬂﬂ u&%& 104 Which one of the following groups contains - e - j
AE Hrdr v W—.m_u_.;nm_ file anm:m._ozw..u.v - % (A) dﬁmﬁmﬁﬂﬂ. ;| &
M“ ﬂ%waw-ﬂ o () GIF, TCE, WMF s (B) i1 oft., Git.oms Q.
! iv) gRoT : = b -
i, 2- PG, GIE, BMP © AHhd, A,
(A) 1.4, 2. w-_.sw\z_.. T, 2-i, 30, 4 \w_m% i i
€V 20,3485 (0) 1.4y, 5.4 3, 4 5 ol ‘ o
S o D) JpG, CPX, GCM .
‘ \W |\_ 3 ® h_Wm. Page 15 of 24
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108. The resistance of a paralle| ircy it consisting of 108, 7y gl arel WY URmA BT AR

h . g
105. Match column - | and column -1l - two branches is 12 Ohm, f the resistance of 12 i & | A T T B ARRIET 18 3 B,

his1 ; o —_

Column -1 MMM”M”MW is 18 Ohm, what s the resistance of A mo.mﬁ T gfRN T 7 )
(a) Bar codes : { : , e
(b) OMR (A) 48 Ohm (B) 18 Ohm (A) 48 aim Br18 3iM
[/ MICR (€) 36 Ohm (®) 64 Ohm (C) 36 3™ (D) 64 i
(d) QR Code 109. Choose the correct statement related to  109. g Rfawer @ wHfRwE @ﬁu & AT
(e) OCR Biodiversity - -

Column -1l ) (A) Biodiversity increases towards the Equator farfaerr Hea vEr P R qEd B
(1) Objective type tests (B) Biodiversity is found equally on earth = (B) gt T S fafaar v FEE aTd W @
(2) Online payments

(C) Biodiversity increases towards higher

latitud - C) T T e ST P AN qGT B
atitudes :
(D) High Himalayan regions have the highest (D) % g3t # fva @ waiE g

(3) Departmental store labels
(4) Cheques in banks
(5) Translating printed page to editable text

Gvﬂﬂaﬂﬂa@wmﬂmﬁmn v

@), (o) -(5), (d)-(2), (e)- Q biodiversity in the world Afdere & .
(&) (a)-(2), (b)-(4), (c)-(5, (d-(1), (e}3) (a2} (o} e :
B S L) o111, (H4) (L2 (€61 s LR m e . .
(© (a) 3 (ML, (0-2) (d) z~ e 7 (0) (eh(3) (BFD), (cH12), 615), (eh ) Mw o ma;ﬂsm_ mg_gan: . sl Mu %ﬁa MM ﬁ ﬁ%ﬂﬁﬁa A
~(3), (b)-(1), (c)-(2), (d)-(5), 4 3 § 3 : _ ceanandTi mo‘%.L_n onservation T S
© (@0, G105, @ e - O e (D 6 [ ) @ &M_ and Thetal Energy Conservation (€) aifget qUs offt TSl e
108, Match the) Sienical ‘Sillbnses—giver” inm 106. Bl (1) ¥ ey M0 I u.!\'lm m_wﬁ_ﬁ.&\ﬂ.ﬁ (D) onmm:; Thermal Energy Conversion (D) afrerd 2#e T G

column (I) with their appropriate application () # g ¢ INGART AN i 111 Choose the right statement / statements about 111 ST (ISRO) & a1 H el

given in column (I1). mﬂz_m.n U ISRO - _ 0 HIT —
Column (1) T a) e _arSeR % (1) 1SRO built India’s first satellite, Aryabhat,
(a) Bleaching powder . (b) AfeT HreT which was launched by USA in 1975.
(b) Baking soda m (c) ST T (2) Antrix Corporation is the quxmmzm.mﬂa of
(c) Washing soda .miwﬂ TARTSS ISRO. »
(d) Sodium chloride, EauA(l)] (3) Master Control Facility of ISRO is m:.cm.ﬁma in
Column (ll) _ i) @ I | Hassan. ]
(i) Preparation of glass ; H; 3R Cl, % SareT & (A 1,2,3 B) 1,3 , \\STHN. 3
(i) Production of Hz and Cl, € 1,2 D) 2,3 S
(ili):Decolourisation 112. comma ~ Shaped Bacteria is called as — M2 JeIfaR™ & AHR B
(iv) Antacid (R) Cocci - (B) Baci : u&k DIBTS
(A) a— (iii), b —(ii), c - (iv), d - (i) (©) spirillum © (0 vibrio ;
(B).a— (i), b= (ii), e~ (iii), d - (iv) 3. Consider the following— S 18, 9 W faeR &
(C) a— (ii), b— (i), c = (iv), d — (iii) 1. Methane :
. (D) a—{iii), b~ (iv), ¢~ (i), d - (i U = (i), c— s des :; 2. Nitrous Oxide
107. When an object falls freely towards the earth ~ 107. Ife ﬂﬂﬂd 3. Halons
' n@ W H m& W i i sible for
‘then its total energy - | S Ll @‘l _ Which of the mvo<m is/are respon
~ (A) first increases then (B) increases &) 75 Eargy a depletion of stratospheric ozone? !
. gy & ®) 1,2and3
decreases ed (A) 1 only 1,2ana3 .
(C) remains constant (D) decrease : (©) ey vl 8 0 5 w : | (©) 3 only ()} 1and2only - ! S
: " Page 170f 24
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is at its largest in childre
but with the onset of puberty, it eventual
shrinks and gets replaced by fat. .
(A) Thymus

(C) Hypothalamus

(B) pituitary gland
(D) Parathyzoid gland
115. Consider the following statements ﬁmocﬂ Li-Fi

(i) It uses normal bulbs to transfer data.

(i) This technology uses visible spectrum of

light.
(iii) The speed of Li-Fi is slower than Wi-Fi.

(iv) It is expected to be cheaper than Wi-Fi.

(D) (i) and .?;

Choose the correct statement -
(A) (iii) and (iv) (B) (i) and

(©) (ii) and (iv)

116. A shopkeeper gives rebate of 20% and 10%

ot # WA ST E &, AT sy
sid: (S ST @ gy

00 oty &1 ST & |
M% (B) ey wify

.Y e (D) RIS Ty
. W\@ﬁ%%%ﬁ?@ﬁiﬂmﬂ

-« () e ferisadas EACMEMSIL RS 0t
JUINT BT B |

n,
ly

=~y

A (R (i _ABTTi) SR (i)

oo (© (i) R (i) ®) (ii) 31 (i

1% 1 @ g @ sifed g W F: 20x
Vo]

successively on print price of a chair. If cost of Tq Hmn\¥m$ v Tl 8] afe % CAR G
chair is ¥ 2,000, then how much amount will m._%% g dl U @I fasar g
customer pay? ° TST?
pay RIS
(A) 1,440 (B) 1,500 9® ﬂw (A) 1,440 (B) 1,500
(©) 1,600 (D) 1,400 = (C) 1,600 _B1,400
7. How many triangles are there in the following ~ 117. fary fermy & fre g 87
figure? < (<] [1°[RG
N S >
y i
VA- & [
>_k b v
(A) 14 (B) 16 B AT 14 (B) 16
(©) 13 (D) 15 — (€ 13 (D) 15
118. Rahul starts walking from point R, which is 16  118. NIgd fdg R ¥ oy P ;
m to the west of point T. From point R, he walks qmmﬁﬂw AMuﬂw 3 m.muw.ﬁx ¥ g %LWM%WM
20 m to the south, takes a right turn and walks BT MR wTefa w T e
for 10m. He then takes-a right turn, walks for 2 e o m, ST & 3¥ 10 qﬁ,, : )
6m and stops at point C. Gauray starts walking _ I 3T ged € 6 &_4 ENE| g 3k E.w
from point A, which is 8 m to the south of point i il Q.a: 81 Ra Ew A ¥ T b
T. From point A, he walks 10m to the East, takes PRl 8, i Ew T % g Sféror 4 2 Ew A
a right turn and walks for 6m. He then takes a 9, a8 10 ), 94 B AR Teldy T, S g 8
right turn walks for 26m and stops at point B. 3R 6 A1 qoIdr 8| fby 98 TRl gl 2 iy
k(u:m” is the distance between point Cand point 26 T ¥ aik fig B W v& o ¥ fag
6 3 n%wwwﬂ&ﬂ%ﬂawﬂ&%
10m (B) 12m go & B8) 124
(€) 15m (D) 25m (©) 154 (D) ,53
‘ : 254,
1314 > Page 18 of 24 +

|f A's income is 3/5 times of B's income and C's
income is 6/5 times of B's income then the ratio
of C's income to A’s income s -

(A) 3:1 (B) 1:1

©) 2:1 (D) 1:2

120. Ais B's sister. Cis B’s mother, D is C’s father. E
is D’s mother. How is A related to D?

(A) Daughter (B) Grandmother

119

(€) Granddaughter (D) Grandfather

121. |n a row of 21 men when Manish was shifted b
four places towards the right, now he Umno:@
12t from the left end. What was his e
position from the right end of the row?
() 12t (B) gt
(C) 10t (D) 14t

122. Which one of the following diagrams
represents the relation between Tree, Teak,
Salamander? ,

mlﬁ
(93]
o™
bt
b

3

o0

5, ® N

. TPV \ J J,A /._ A,%ﬂl\ L) M
N o 2
OO0 (D) &
NN \ -~

/\\ (51 1

123. select the related letters to replace the ?’ from

the given options -

HJLN : SQOM : : DFHJ : ?

(A) xasa (B) VRQS

(©) wusq (D) XRQS o]
124. Two candidates fought an election. o:mﬂ

them woﬁ 65% of the total votes casted and sﬁ

by 420 <o~mm.,.<<:3 is the total number of vot€s

polled if no-vote is declared invalid? N

(A) 1200 (B) 1500

(©) 1300 (D) 1400

g, B o {345 P @ @2 C
. 2 @ c @

e—

19. 7f2
%W%‘m%aﬂﬂ
T A &) AT H_II 8 —
el (B) 1:1
(©) 2: e (D) H”m, »p!i)\ o
120. A B fnm#_iw_o.niﬁt
21E)0D %nﬂw;.wﬂyﬂmzo@%
¥

TR 5 &)

m\mﬂax © w12
o dfirr # I 1 JEAT AR A

R S T | @ A€ arfl BN 9 12 |
Aﬂﬂﬂw_%ﬁ%%ﬂéﬂ
gL LA A
A 125 B &t
- Sw (D) 147 . % 7
122, PrefeyRee 3 @ B IXE e, T S

2395

g

(B) = V°
Yy

X e

2? .
(A) <\ (B) “
a1
(©) = 7S B
f/ﬂ_\v.(,
123. Ry 7 et § | P ¢ Wi W Gal
R, 2L -
a_.z.n”‘wzn.yo_m_h ”..@1:'“ 9
_A-xasq (B) VRQS
(C) wusQ (D) XRQS
124. T} IEfiEaRt A U A <ol T
H[e STel T FAl B 65% e U |
it < farsrdt & g At
& fobar T, W Sre
FT B N
(A) 12 i () 1500 A s
(C) 13 & ,%.,\.Eoo 5.5

125, af &% R @ o o (40 oo

IR Th
125, The average age ofa class of 40 students an 3 R o - s T NJ
teacher _,mmacnmm by 0.5 years, if we exclude %ﬂﬂdﬂ\ﬂ%i | _A,_,JAH,M% 18 M.l_\,%\ Sl MW
teacher. If the initial average age is 18 yedigy £ Lk — =" —
- her? - R & omy = : L
then what is the age of the teac 39qd - B &7 33
(A) 39 years (B) 38 years &.M*\ g (D) 41 9% |2
¢ (D) 41 years (Cyag a5 f) .
(C) 40 years : SN 1.
B 3 . b7 “\I.\‘
1A & Page190f24 : %




126. Find the wrong number in the given series from

the given alternatives - Al g 60 PR
14, 39,84, 155, 2
14, 39, 84, 155, 260 al === (B) 260
L
(A) 39 (B) 260 ;\waw § (B-155
(C) 84 (D) 155

dnu.%iﬁaﬁg.w

o <o PI YT_AB TR THI WY —
qg ATl

*|
& X
B o

128. o — VR P @ AR SDET 2 | ARG

127. Choose correct mirror image of given question
figure when mirror is placed on the line AB —
Question Figure A

*1

B

(A) (B)

© (D)

KoK
Kk

128. Statement - Quality has a price tag. India is

allocating lots of fundsito R & forg 9ga e e smafed &
education. RET B

Conclusion — I. Quality of education in India e @ | uRT F e @y o H Weg 8

) would improve soon. R BT |
II. Funding alone can enhance II 37l fory drgor fRrem o) VT
quality of education. 9eT AFHAT 2, -
(A) Only conclusion | follows & F (A) Faer faeg | @&ﬂuﬂ PR B
(B) Only conclusion Ii follows m (B) Baet frmpef | AR BT &

(C) Neither I nor Il follows
(D) Both | and Il follows

129. |f TRIPPLE is coded as DMOQHSS in a code

Aola_%ﬂ%__suﬂﬁﬂﬂ_w

Gr\% Il < SrgeRey IR
129. Ryt widfae sy # afe GRippLE T o

language, how is VICTORY coded in that - &Mz_moxwm 2, @ 9 o § VICTORY @1 o
language? Mﬁ% P v T
(A) ZXPSDHW (B) XSNUBJU .\S\mxaozs\ —

(C) WHDSPQz . (D) UIBUNSX

(®] WHDsPQz (D) UJBUNSX
apﬁg TE R K

fére T g Tt @ @ 4 @

IRBTY g g7~
(A) 15,0007 (B) 80003
(Ch-g000% (D) 10,000%

130. The difference between the simple interest and
the compound interest on a certain amount at
5% for two years is T 25, what is the amount?
(A) % 15,000 (B) T 8000
() T 9000 (D) % 10,000
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_mm.wﬁﬁ@iﬂ@%i&ﬂﬁw@

ﬂﬁm&%%mg%nﬁmﬂaﬂ@m@w
@A) T B W By, ¥ — WerfEL

131.

© b, T — IFRR (O) 7, 7~ w F
92, ‘ACH B AT F TG Ao 0w, & frg el 7 & -
(A) TSI _ B} e
© fag® (D) wrerara
133. spfe ¥R Wl Y 3 YIREEN Ree &1 @a FIfT — v - b
(A) 7T+ QT = o @+ g = e 2T
© fR + 97 = s (0 7 + g = A B tua
134. I &1 71 P —
(A) gfer F AR qhsar | — RO foar WM
() e B A e @ A — s i
(©) Tu W9 Tr| — FHAF Tl
. — o fma

k@\ﬂﬂ%%ﬁﬂmﬂmﬂ&? ’
am.w_ﬂﬂ@%%%&m@@ﬂmﬂ%mﬁwﬁ% hae A+
éﬁ.%ﬂ\? Re, |

(A) 3T, Iaed, JARIT
e (D) B, i, Sifee
e e

(C) 3rafyy, Jra=, SFaEd
_um..w_ﬂm@ﬂﬂ_ﬁ«ﬂ@\ﬂwﬁd%m@wﬂ . {Oreet
Ewad 3_ (B) FRa g¢ — -

137, fat faed 4 ‘Allocation’ I T =l q@%ﬂgﬂﬂ% L0
(A) forre Aﬁwwﬂm :
() A :.
am.ﬂﬂmﬁmwﬂmﬁﬂdﬂ%ﬂa|.r e -
(&) T ¥ GR-eR T 9 & € | - \@ a&nﬂﬁﬂﬁm«ﬂﬁ o
o) TR e wer T Rl ST o
199, fasi w1 e YIRS F1 T FI — ‘ N
L — * (B) STTI—asT, SR 1 i1
I, 1A, S S _— y
A : a—arg (D) UH—TTH, SaR—3e 1, [T

(C) arfyeerhT—STee!, STH—HATIC. e g
140, ey faepecy ARG ST T AT T O & _
i (B) Vanfege
(D) <EfRST 3
(C) wrgerTA . 9 =

. Page 21 of 24

131A B> -



he questions that follow —

Direction (141 to : i <age and answer t
( 143) : Read the given passag ersuading them to go to school,
] .

Despite the frustrating years of dragging children out of bed and P , .
|d, and become industrious ang

or
young children have an _:HmEm_ drive to learn about their W

A either be stifled or encouraged
productive individuals. Their educational eagerness and %m: goura

‘\\. " .
¢ children’s developmen
by parents, teachers and other mac:m Aware parents can € nocam thei p t

and home environments
of important life skills. Besides Hmmn:_:n them to read and ‘write, school

m:'.Em_m
teach children cooperation and interdependence. nz_%woh:mmmm inimport (ke

playingtwith dolls or cops and Sccmav which prepare them f Sk koo,

mc_uuo:nzm parents can promote crucial learning of life skills. Above all, school-age children struggle

with feeling of inferiority and incompetence when they compare themselves with their peers. If they

don’t fit in, they might zwm_%, Loving and accepting parents help these children develop

the confidence to create a future where they can thrive and feel good about Smamm_,\mm. .

141. Some games prepare the children for:

(A)  good health By~ adolescence and adulthood
(€) academics © (D) competition
142. The antonym of the word ‘curiosity’ given in the passage is -
\ e
(A) intrusiveness (B) inquisitiveness

(€) _u%ﬂﬂ : ¥ apathy

143. The synonym of the Eo?%zmg in the passage is -
. - s -

(A) suppressed .~ (B)  amplified

gm:uu_-ma_ (D) enhanced . _

144. Which of the following is/are the correct statement/s regarding letter writing?

(1) ‘Your’s Faithfully” is used for ending a formal letter. i
‘:; The right sequence of writing a letter to the editoris - Sender’s m%_‘mmm xmnm_s.m« s address,
Subject, Salutation, Body of letter, u:cmn_,_n:o: Date.”

() The right format of writing a date in all formal letters is ‘30th

‘30/05/2022".

May, 2022' instead of

(IV)  ‘Yours Truely’ is used for ending an informal letter

. Code- ! 3 m

(&) Onlylllis correct ®  Only 1l and IVare correct
(€)  onlyl, litand IV are gdrrect ®  onlyil, 111 ang Vare t
] correc
131A P> Page 22 of 24

T

5 Give one word substitute for
A large number of fish swimming together

(A) e o (B) shoal

mw\ swarm , 0 litter

146. Choose the correct option: N.\,
They made me laugh. (Change into nm&Em voice)
—_—
(A) They made too laugh by me. B
(%] _ were made to laugh by them. (D)
147. Choose Sm meaning of the underlj :m.._ Em%

| am going to stay at home because | am feeling under the weather today.

(A)  sick l\@\ depressed

(C) unhappy (D) irritated

| was made to laugh.

They were made to laugh by me.

148. Choose the correct Hindi translation of the given sentence —

Mom, could you put 3<wmoxﬂ1=m_|mm the bag? -
W) o, e A R A v @ 2
% i, @ o A e 4 ¥ Y@ wad G
© i, T W 4T A9 e e v & 87
() W T ¥ AW amy R AT F ¥ Gl 817
143. Choose the correct answer from mﬂ given options —
;m. teacher said to the students, ..._..@Wumnrkoh_, aom_a... ﬁ_._m:mm in@ indirectspeech)

.\Qz\:ﬁ teacher asked the students to take rm..nfz.lm__. books.
(B)  The teacher asked the students to take rm&@acrm.
(© The teacher ordered the students to ﬁ.mmwdun% books.
‘AE The teacher told the students to take back books.

150. il in the blank spaces in the given sentence choosing correct answer ?aa the given options —

T o

z :wmq ISt s amam E_E animal

() the, the ‘B aa

(C) a,the

Page 23 of 24

BIA &





{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}



